056:054 Engineering Economy




NAME ___________________

Quiz #3   Date: February 12, 2004
☺☺☺☺☺

1) Bob takes out a $2,000 loan over 2 years with a monthly repayment of $94.15, at an interest rate of 12% compounded monthly.  Show the first three months of the amortization schedule in tabular format.
	A
	Pn
	In
	Bn

	
	
	
	2,000

	94.15
	74.15
	20.00
	1,925.85

	94.15
	74.89
	19.26
	1,850.96

	94.15
	75.64
	18.51
	1,775.33


2)  What is the equivalent present sum that is equal to a payment series of $10,000 at the end of the first year, increasing by 6% each year over 5 years?  Interest is 10%, compounded annually.

P = A1* [ (1 – (1 + g)N (1 + i)-N ) / (i-g) ]
eqn. from the back of the book

= 10,000* [ (1- (1 + 0.06)5(1 + 0.10)-5 ) / (0.10 - 0.06) ] = $42,266.80
3) Based solely on the concept of conventional payback period, which of the following projects is the wisest alternative?

Project’s Cash Flow ($)

	n
	Project A
	Project B
	Project C

	0
	-$75,000
	-$100,000
	-$100,000

	1
	-$25,000
	$25,000
	$50,000

	2
	$50,000
	$25,000
	$50,000

	3
	$50,000
	$25,000
	$1,000

	4
	$50,000
	$25,000
	$1,000

	5
	$50,000
	$10,000
	$1,000


Project A has a payback period of 3 years.


Project B has a payback period of 4 years.


Project C has a payback period of 2 years.


Select Project C based solely off the concept of conventional payback period analysis.

4) Consider the following set of investment projects.  All project have a 3-year investment life:

Project’s Cash Flow ($)

	n
	Project A
	Project B

	0
	-$2,000
	-$1,000

	1
	$500
	$500

	2
	$0
	$500

	3
	$2,000
	$500


a) Compute the Net Present Worth of each project when MARR = 15%.

PWa = -2000 + 500(P/F, 15%, 1) + 2000(P/F, 15%, 3)      eqns. from back of book


         = -2000 + 500(1 + 0.15)-1 + 2000(1 + 0.15)-3


         = -2000 + 434.78 + 1315.03



         = -$250.18
PWb = -1000 + 500(P/A, 15%, 3)



         = -1000 + 500[ (  (1 + 0.15)3 – 1) / (0.15*(1+0.15)3 ) ]



         = -1000 + 1141.61



         = $141.61
b) Which project is the wisest alternative from an economic standpoint?
Project B is the wisest alternative.
Continue over if needed
